Name of the Trade : Geo-Informatic Assistant - 1st Semester - NSQF - Module - 1

Question Opt A Opt B Opt C OptD Question Opt A Opt B Opt C Opt D Ans | Level
1|What is the common personal protective Steel rods Bare feet Condition of the floor |  Insulative gloves  |fdgd F&Tl & IHAIR T Tfhald FI&T | Tl H B3 q W AT &l gleld | ogeles g&d= | D 1

equipment is used in electrical safety ? sfFquac & a1 3UAT FAr ST 82
2|What is ABC in first Aid ? Air, breathing and | Always, breathing | Air way, breathing Air breathing and  [Jraf@e Rfecar & TdiEr 41 g2 T, STl TS |3Teldsl ST US [ TIR g, shideT Us | TR Sifder U8 C 2

control and control and circulation circulation FUerer FUerer g orereT g orereT
3|What is the basic first Aid ? Allows to quickly Allows to quickly Allows to quickly Allows to quickly  |H@ grafaes FRafecar #r g2 et cafh i R cafh & [STFe P STeay & | TP R HI oleey | B 2
determine a person's determine a search to the doctor search a car Afae ufa |adiRe Rufa &t | @ axa &7 q @retet Hr
mental condition person's physical H STer H Seqr @ i@ | sgAfagar @ HgAfS &ar &
condition Aeifia & 1 | = F 3gAfa
AT & & gar &
4|What is the meaning of PPE ? Personal Product Pre Product Product Protective | Personal Protective |PPE T 319 &aT §? Tl YISee o e NedFe MefFed | TeTel TefFed D 1
Experiment Experiment Equipment Equipment TFaIRAC TFaIRAC sfFauae sfFauaic

5|What should be in a trainee for any course or Discipline Good personality Governor Height e off e @ drEel & v g # g AHA 37TOT Ofhed AR >a8 A 1

learning ?

FT gl aTfgu?
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# |Question Opt A Opt B OptC Opt D Question Opt A OptB OptC Opt D Ans | Level
1|What a personal computer is called ? Multiuser Multiprocessor Single user Double user  [q8HeAe FYXR fhT Fed o7 Aot Yok HAeaIIAER e R EECIE € C 1
2|Who is known as father of computer ? Pascal Jacquard Ada Charles Babbage |[FteX & STeish & &9 H [hd SIeAT ST 87 qrEehel s Ey qred ool D 1
3|When was the second generation computer 1945 to 1955 1955 to 1965 1965 to 1970 197010 1990 [GE{T UG FT FYR &d [AFhfAd [har 77T A1? | 1945 F 1955 1955 & 1965 1965 & 1970 1970 & 1990 A 2

Developed ?
4|What is G.B. is related to ? Speed of computer | Size of monitor Capacity of Size of U.P.S [S.aN. @ a1 Gafad g2 FYR HI AT | Al H JHR | THT H AT | A.0H. & JHR| C 1
memory
5|What is the nervous system of computer ? Control unit Memory unit Parallel port ALU FTYL F dTAR dF FT 5?2 Fugdl gfac AART gl RoTe dic T g A 1
6|What is the generation of IBM 1401 computer ? First generation | Second generation | Third generation |Fourth generation [3TSETTa 1401 FYeX Hr el FT g2 Tgoll Uler &1 T gt &1 el 9 @ el drdr &1 A 1
computer computer computer computer FoYX FoYX FoYX FeYX
7|Which multiple choice examination answer sheet is Optical marker Optical character Magnetic tape Magnetic ink  [&lT &Y a5 fashed] Fe 3ax Jiede & Hodihed | 3fcchd AR | ITechd HiFeX | I ¢ AN | I T8 I A 2
evaluated automatically ? reader reader reader reader AT FT O fFar Jrar 22 =T =T
8|Which of the following is the type of Daisy wheel Matrix printer Impact printer Laser printer Manual printer [f@eATa@d & & HidA 3o cglel WX HI JHR Aferd e sHge X oo TUeX A3 e B 1
printer ? g2
9|Which of the following is the example of line printer? Daisy wheel Dot matrix Band chain drum Laser RAATIRT § & ST a5 Wel & 3807 872 3ol T 3l AeTFq 85 A 3H EIEd C 1
10|What is the name of connector where cables are Connector Hub Port UPS STeT &hadl 93 §U ¢, JaT Peldc] &l ATH  FAT g2 FolFeX g e gdred C 1
connected ?
11[Which of the following are the two types of main Primary and Random and RAM and ROM Primary and  [Feafaf@d &7 & #ld A% &7 & & TR 57| T#AS 3R EA AR WIR A |uEs iR @A | C 2
memory ? secondary sequential Random IGIRE g uieRsre
12|What is the capacity of 3.5 inch floppy disk ? 1.40 MB 1.44 GB 1.40 GB 1.44 MB 353 Tl 3&h T &TAT F4T 87 1.40 THsT 1.44 Sf&r 1.40 Sirsir 1.44 THsT D 1
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# Question Opt A Opt B Opt C Opt D Question Opt A Opt B Opt C Opt D Ans | Level
1[Which command is used to save document in word Ctrl+C Ctrl + X Ctrl+S Ctrl + 2 Js H SIFGHC Bl AT Al & (AU [hd HATS HI Ctrl+C Ctrl + X Ctrl+S Ctrl + 2 C 1
? 39T R ST 2
2|What is the file extension of MS word ? TIXT .DOC .DAT .DOM MS T3 & HISl TFHCesT FT g2 TIXT .DOC .DAT .DOM A 1
3|Which bar is available in MS office ? ERDAS imagine Geometica Status Bar Formulabar  |THATH 3hd H Hid AT R 39ceY g7 ERDAS AT TSr3NHER ¥ed IR HH IR C 2
4|Which of the following is the word processing MS word MS photoshop MS ERDAS MS outiook  [[@e=ITai@d & & HidA IT a5 NATHIT TFCA g2 AT d3 THAUH BIcRIY | TATH ERDAS | UHATH IB3cd® | A 2
software ? IMAGINE AT
5|Which key is used to bold the data in word file ? Ctrl+B Crl+2 Ctrl+C Ctrl + Shift + B [dS WISel # 3¢T # o8 oA & (AT hd Foll Ctrl+B Ctrl+Z Ctrl+C Cul+shift+B | A 1
&1 39T fRaT ST 872
6(Which command is used to copy data in word file? Ctrl + X Ctrl +V Ctrl+C Ctrl + 2 3CT A HAT Tl & (AT [T HAS HT YA haT Ctrl + X Ctrl+V crl+C Ctrl +2 C 1
EICIR
7|What is the maximum length of worksheet name in 28 31 32 38 THAT & ghfic A1 T 3TAhdHd oS T 87 28 31 32 38 B 2
excel ?
8[Which of the following cell is first cell in excel ? Al Bl C1 D1 fAFATf@d & & Pld G AT TFAT H dgoll Jc 7 T1 a1 @1 i A 2
9|Which extension is used to save power point .DOC XLS PPT TIXT JIaR TATSC Yoic2led &l A9 Hlel o [olU fohd TFAC2NT .DOC XLS PPT TIXT C 1
presentation ? T IILET HAT ST &2
10|What are individual pages in presentation called ? Programme Formula Presentation Process Uoleqld H Ycdsh Yol T hgolld g7 DI HIHE Presentation EIRery C 1
11|In excel what is ROW & Column interaction called? Data A Field Cell Equation TS H U 3R Pl HT J31d N AT FHgl SNl 872 EG res ao TR C 1
12|How many worksheet are shown in a excel 4 3 2 6 TFA gl H fhda asele e sma §2 4 3 2 6 B 1

worksheet ?
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#|Question Opt A Opt B OptC Opt D Question Opt A OptB OptC Opt D Ans | Level
1|When did Photoshop start 2 1985 1986 1987 1988 WICIRITT 3 QB3N e g7 1985 1986 1987 1988 D 1
2|What is the file extension in Photoshop ? .bmp iff .psd .jpg WIS H HISdl TaFaeeld T g7 .bmp tiff .psd Jpg C 1
3|How the images are made ? DPI Drawing Dots Pixels AT Y el gldl 87 IS IEECaEY 3 Reraer D 2
4|Which of the following tools would be used to edit a Pen tool Selection tool Eraser Direct selection |f&=ff@d & & el AN gef HT 3UAT Adobe 9T Tl [SRERCiC R SIEC el D 2
line in adobe Photoshop ? tool Photoshop # Teh o8l &l UfsT a¥al & foiw fomar T
SITTAM?
5|Which tool is used to select the whole image in Selection tool Control + A Open tool Control + Z  [®IeIeNT & Y B1d H aded I & 0T vl et gal HUCTA + A 39T TA HU +Z B 1

Photoshop ?

3UHIUT T 39T R Srar g7
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#|Question Opt A Opt B Opt C Opt D Question Opt A Opt B OptC Opt D Ans | Level
1|Which language is applicable to remove object from DDL DML DCL DQL 3T T ATeoldc Al gl & TolT hie] AT HTST SEC ATATA e EET ] B 1
database ? CIOEGIR
2|What is called collection of arranged data ? Record Database Forms Reports SUGTEAT 3eT T GIg FIAT Sl 57 s 3erad Ear:d e B 2
3|Who developed the DBMS ? Charles Bawey Y.D. Singh EF Codd Pascal DBMS &I fohast Tasfad frar? qreq a1 a8 g SUH HI5 qrEehel C 2
4|What is a relation ? One dimensional | Two dimensional Three Four dimensional [ReR=T &am 87 Teh 3TITAT difelerT| & 3T arfelepl | el 3Ty IR FATHA B 1
table table dimensional table table GUGEDS arferent
5|What is the full form of RDBMS ? Relation Relation Relational Related Database |[RDBMS &I qU01 ¥ &7 §? ﬁﬁ%l?jr Seey ﬁﬁ%l?roéaﬁ'\ﬂr ﬁﬁ?l?ﬁr EGCD:] Roles Seeg C 1
Database Database Database Manipulation Aasede Reer | AAodic aR | Adeede Rwen | Agoers s
Management Management Management System
System Server System
6|Which keys are used to represent relationship Primary key Secondary key Foreign key Attribute key  [ATTeipI3T & &g T&Y &1 @S &= F JISHY hr Thsd Fr BRT Tfeege Hr C 1
between tables ? forw fohe ol &1 39T foham ST 82
7|Which variables is valid in SQL ? MYNAMES Smyname Create My name SqLH @i IT IRTIST AT 87 MYNAMES Smyname Create My name [® 1
8|Which command is used to add a new column in DROP INSERT ALTERT ADD ADD T H U AT HIAH A3 & [T hd HATS Rl =ac 3TecT WS 5 D 2
table ? T 39317 fRIT STt 82
9|What key represent the relationship between tables Primary key Foreign key Unique key Secondary key [ATfelept3fl & ot HaY Tl Foll 1 SldTATeca UISHT T BRA T P GEEE HhadT &I B 2
? X g2
10|Which command is used to modify a column in a Select Updated ALTERT ADD Append Rl arforT & U Picle Sl FMAT A & Teldc 3793¢s 3Tecic U8 379Us C 1
table ? forT forg ®#ATS &1 39T fRaT STaT 82
11[Which command is used to separate similar records Filter Sort Table Add T F A RIS FT 39T A F [0 5 el Hic g 5 A 1
in table ? HHATS HT 3T HIT AT 82
12|Which sign is used in data that looks like currency * ® < $ FiT O1 g 3T & 3uTrer Far Srar & s * o < $ D 2

field ?

FT Preg $r avg war &2
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#|Question Opt A Opt B OptC Opt D Question Opt A Opt B OptC Opt D Ans Level
1|Which one of the following is the logical topology ? Tree Bus Star Ring fFATaad & @ ST AT difches cIaTdllol g?2 5 |9 oarT IS B 1
2|What is the full form of WAN ? Wide Area World Area Wide Area Wide Arial WAN & qUl §9 FT §? 58 URAT sicds | des URAT Acds | a5 URAT sicde |d5s URAA sicds| A 1
Network Network National Network
3[In which of the following topology, hub is used ? Bus Ring Tree Star o 7 @ forg Adieiell & &9 T 39T fhar |9 Rar fa R D 1
ST 87
4]Which one of the following topology is completely Ring Star Completely Linear fAFafat@d catars # F Hid 91 0 g 8 Rt TR FFTAICe] HAFes R C 2
reliable ? connected T &2
5|What is the full form of LAN ? Linear Area Local Area Line Area Network Lazer Area LAN &7 0T &9 T §? NI TRAT  [Alhel TRAT Seden| s TRAT sede | ok TRAT Aeds B 1
Network Network Network Aeas
6|Which component is used in the client server Network Client Server Protocol Y I AT e 3R FiAThar ds & fow Acdh FollsT JR qretehiel C 2
architecture to process the request and to send the Follsc R ek & fFg gea &1 39T
response ? e STar &2
7|What is a router ? The device that | The device that | The device that | The device that [RT3eX &aT &? 3g fZasa s Zarsq ot 3ar | f3arsw o aeeT fSarsa St A 1
operates at operates at data operates at operates at Fedh AW W AT W FA AT W Todr § | TTCeTehelel ol
network layer ? layer session layer application layer FIH FIAT &2 T § TR FH FAT &
8|What is bluetooth ? Local area Wide area network| Personal area | Metropolitan area [s[gd T &? Mehel URAT Acdeh| d88 URAT Acds | IO URAT | HeldiielesT TRAT C 1
network network network ECED Aeas
9|Which of the following cables are most expensive ? UTP STP Fiber optical Coaxial FATAad & T SleT AT hadl TIT FAGIN 72 g THEY WIS 3fTTeeahol EluERTE] C 2
10[Which kind of signal fiber optical cable used ? Light signal X ray signal Electrical signal Wood signal  [[Fa @Rg & [A9eTal ®wIaR At shaol &l TehTl Tohd g Y et fagd "o HT HT Tohd C 2
39T fRAT ST &2
11[In OSI model which of the following layer is Data link Transport Network Fiber optical ~ [OSI #lsel # U3EA F AU HIAA W 3 Bl 87 3T ol A Acdh WISeR 3fTTecahol B 2
associated with routing ?
12|How to identify a computer on internet ? Email address Home address Street address IP address  [3e¥elc IR FTYLX AT Ugdled Hhdl H? A T3H o @ U39 Il A TSH A T D 2
13|W.W.W makes use of which protocol for surfing the FTP HTTP IP uTP W.W.W 3q 95T &I Gfthdl aad & o0 fhd Therdr Erara] TSy g B 1

web page ?

YIeTRel T 3T AT &2




14[Which of the following protocl is used for connecting IP FTP HTTP IMA o F T FlT AT Nt [QATHeT scdsh Pl EIEST THIT Tgeredr TSTHT
various network ? ey & fow 39T f&Har Srar &2
15[Which one of the following protocol is used for SMTP FTP IP SMPT A Aol b [OT AT & & g JIeihlel THTACI THIT EIES THTAYIE

sending the email ?

16/Which one of the following is a correct formet of name @ website | name @ website. [name.website.com| w.w.wname at |[FFIITRT § & P A T3 & el BiAC 82 | name @ website | name @ website. | name.website.com | w.w.w name at
Email address ? @ into @ Into @ website.com @ into @ Into @ website.com
17|Which of the following protocol is used for sending SMTP FTP WAIS GROPHR fAefaf@d & @ Fia a1 Weldid 5-Ad ol & THTACIT THIT WAIS GROPHR
the E-mail ? forT suter R Srar 82
18|What is the full form of W.W.W ? Word Wide Work | Word Word Wide | World Wide Web | Work Word Web |[w.w.w T q01 &1 &1 g2 EEHEIEEIEET gs g3 diss Jos drss ad g% ds o
19|Which of the following is a class of computer threat ? Phishing DOS attack Soliciting Stalking frfaf@d # ¥ Hid a1 FYR & TR F TH TR 31T 3eH afafafear Tertena
T g2
20[Which of the following is known as malicious lllegal ware Badware Malware Malicious ware |ie=iTali@d # & fF8 TT AFCA3R & & H HIY FFCAI | g¥d AFCAR HedIR Afafasia
software ? SATAT ST 872 FiFedI]
21|What is the full form of malware ? Malfunctioned |Malicious software| Manufacturing Multipurpose  [HedaR T QU1 & &1 82 HBFLTS A3 ﬂFgﬁWaﬁﬂ agsé%fm
software software software HiFeaR HiFed3R HIFEaIR HIFEA3R
22|What is antivirus ? A bigger Software to Computer Computer TEARE F47 g7 TF 93T WRT$ | AFedIX ol IRRT & AHR | FYR AIFecaad
dangerous virus | duplicate viruses software to software used to Gl e " gelet & folT Hr ge AR
increase the size | prevent delete gitare Y FYEI AIFCAIR afafasta
of viruses and remove AFeaIX I
malicious softwere g & fau
3
23|What is cloud storage ? It is name of It is a GIS It storage of data | It storage of the [FelT38 TeReT FT &7 Ig SR H | Ig U SN3SUT | Ig Foi3s & g gls HaT A
animal softwere online in the cloud | data in hard copy Eiea iy ATFEA3R & | 3iTAelseT 3eT &7 (3T T TR AT
$TSRUT T & ]
24|What is the full form of RATS ? Remote Access | Remote Admin Relay Admin Relay Admin  [RATS T QU1 &7 & g7 RaAle wraw ReAe s Rl T ¢usk | Rel wsfaa ae
Transition Trojans Trapdoor Trojans [MEINC] [ C




Name of the Trade : Geo-Informatic Assistant - 1st Semester - NSQF - Module - 7

#|Question Opt A OptB Opt C Opt D Question Opt A Opt B OptC OptD Ans Level
1|Who is known as father of GIS P.R. Phsaroty | Charles Babbage Mr Rogor Sergey brin  |[Sieg SM3MSUd & AT & T 7 AT ST § .31, HERIAT qred sSeial A [T THHA et ToreT C 1
Tamlinson
2|which of the following is the part of GIS component ? People Car Bike Cycle AT § & Sl ST Tch H fedl g2 i ISy CIEET Th A 2
3|What is the full form of GIS ? Geographic Generic Geographic Geological GIS & qUl ¥9 &7 §? SR The AR SABIHLUAA Sratanfees Srarentotehe C 1
Enquiry System Information Information Information Seaary e Been SABHLIA fATes | saTwretesT BTes
System System System
4|GIS deals with which kind of data ? Numeric data Binary data Geospatial data | Complex data |GIS 8 dRg & 3T & TS g7 TEITcHAS 3l SR 3eT H-FAUTfIh 32T Sfeer et [ 1
5|What is the full form of GRASS ? Geological Geographic Geographic Geological GRASS & QU ¥9 &7 g? Sarenforeer REa Sratanfees Sratanfees e forer C 2
Resource Resources Resources Resource And TAfAf AT qears A vz gears
Analysis Supply | Analysis Supply | Analysis Support | Supply System aEeH TAfAfAE aears | TaArfafad gare oA
System System System reea e
6(What is G.I.S ? It is a threat Itis a computer |[Itis a car company| Itisanameof |G.l.S T 87 g Th G & g 8{-@1@? g Th PR Ul | g HAT HT Th B 2
based system for building 3T F=R, TR, g AT g
capture, store, Fewor 3R
analysis and yedie & fav uh
display geospatial FTYET ARG
data YuTTell &
7|Which of the following formats can be used for GIS DXF Excel Word JPEG GIS 3m3cye & fau Reafaf@d # & fa grwg ATFATH Tl as EEIES D 2
output ? T 3YIRT foRdT ST ThaT 872
8|Which of the following can be expressed as an Arc gis Keyboard Autocad ERDAS - Imagine |f@#=Tfaf@d & @ fhd grsdeR &esh & 3601 & 3Tk ST ACIE] RIRES ERDAS - AT B 2
example of hardware component ? & FH =g fRar o1 dhar g2
9|Which of the following is open source software ? QGIS ERDAS Geometica Photoshop  |=1Toif@d & & &leT AT 39T T ATFCAIN g7 FYSNIHTE w4 T3 ICTRITT A 1
10[Which of the following is a paid software ? QGIS GRASS SAGA ERDAS - Imagine [[@Iaf@d & & i &1 T AYodh AIFCIA 0?2 FSISTH pir] ESiEn ERDAS - 3RSl D 1
11|Which of the following source used in GIS Positioning Non Spatial Spatial Global positioning |[Fe=ITei@d & & @l & AT SNIMSTH Il ~ TTRriaT AT g Tollgel OiforRIfaAaT C 2
information collection ? information system|information system|information system system Tag & fow 39T fFar Srar g2 sorFaee {ea | e A | saweia e Rreea
12|What is cartography ? ltis a Art and science of | It is a computer ltisaimage |PICTdT FT g2 IJg Th AATIT delled T | T§ Th HYXR g T 3HS B 1
classification making map hardware part processing FonfaftheeeT /Y | Fer 3R [aeT | gEa3R Rewr & | Waf@r doedis &
method technique g
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#|Question Opt A Opt B OptC Opt D Question Opt A Opt B OptC Opt D Ans | Level
1|Which of the following is the example of raster data | Grid /row , column Point Line Polygon TIT@d & & Pl 3T 3T BT 361807 27 15 / 9fth, FreA qisc BIEGH TGS A 1
?
2|What is shape file ? An ESRI data | Itis arasterdata | Itis a raster data | Itis a software [QUBISST F4T 272 N TUNFIas |Ig Tk WX 5T | Tg T &KX 3T | g i’@TgEI 3eT A 2
format for non format software work on raster JFX & fov = pide § JiFecd & W TH AFEAIN
topological Vector data THY 3T URg FH T
3|What is geospatial data ? It describes only | It describe both | It describes only | It describes only [#-FTfeidh 3T FAT g7 Tg 3T A1 Fhadl g T 3R g had TUT STH hacl B 1
length of the data | the location and location characteristics TS HT qUIA AAYAr3t gt | T guIT Far & | fadwansit @
the characteristics AT § T goTed T § goieT &
4|What is spatial data ? It is a vector It describes the It is a raster It describes the [T 3eT FaT 82 g TH dael Tg ST FHI g 34T TEX g T D 1
software characteristics of software location of spatial FrFeal § T3t &1 TAFed3N § AT & T
data feature Uil Tar & FT qUIT LT &
5|What is vectorization ? Conversion of Conversion of Conversion of ~ [Conversion of soft [F#4fleoT &T §7? qiFe HIN SeT | YWY SeT &1 | SeT H WY grs &I &t B 2
hard copy datato | raster data to vector datato | data to hard copy I TIFC AT & aFeT e A A & fow Feadeled ATFe
soft copy vector data raster data CECOI FYTAROT deFeX ST I 3eT
HYTAIOT
6|What is DEM ? Digital Electric | Digital Elevation | Digital Electric | Digital Elevation [SSTs =ar §? Bioed sofdew | Boca tfodas | Roed safdes | RS tfoaws | B 1
Machine Model Model Machine R HArsel HArsel R
7|Which database level is closest to the user ? Physical Internet External Conceptual  [@leT &T 39T TR 3YTRHAT & TIH HAS g2 [BIEET T TFHCH FleTHe C 2
8|Which of the following is another name for the weak Dominate Child Oowner Father AFATAd # & Pled FHAAR UTEET Pl GAXT ATH EIECTS A3 MR Frel B 1
entity ? 2
9|Which of the following database does physically Index View Raster data Image AT § & &l a1 s Hifds 7 T gidr EeEr] = T 3T SHST A 2
exists ? ¥
10|What is the full form of DBMS ? Database Mixing Database Database Database DBMS &T U1 ¥9 &T §? sTer o TAfFEaT Elies: 3¢Ed Heloldc | Seed AlfdieRer | C 1
Station Manufacturing Management Monitoring System T ﬂgﬁmﬁv‘r pEp=cr: psp=or:i psp=er:i
System System
11|Which of the following organised structure is related Graph List Tree Link Artfaf@a 7 @ i & Forfdd =1 aRgHA FIH foree o IGER C 2
in hierarchical model record ? Aled Repie &7 gafag g2
12|What is the another name of hierarchical model ? Normalise Tree Structure Flex Structure | Table structure [UGIIsh{Hd HISel & GAI ATH AT g2 AT A FT I GLIAT TR AT aTfelehl =T B 1
structure AT Y
13|What is the full form of DMS in coordinate system? | Degree Maximum | Degrees Minutes | Digital Minute  [Degrees Minimum |&ffSaic f&Teca & DMS ST Ul & &1 g7 =af AfFaaa 39t MAeie ass | RBoca Bac IEIRGIGEE B 1
Seconds Seconds System System d$e R[eeH EcH
14|Which of the following is a type of map protection? Cylindrical Geographic Raster image Vector data  |e=1Taf@d # & &l @1 AATIT GI&T & TH SRR Satheh @gs s oY 3aT A 1
JhR §?
15|What is meridians ? It is digitizing Lines of equal Lines of equal | Part of computer |[AAf3Ts Fa1 82 g Bfafsr [ | g s & | F9 SR 1 | FgER gEaR C 2
method latitude longitude hardware 3 @ @ &1 fFear




16|What is vectorization ? The process of | The processof | The process of | The process of [d4fiezoT T/ &2 @IS @M ® | JFe oged d | UeATeldlol ser 1 | f3fSiee ser @
converting raster | converting vector |converting analog | converting digital qFex @1 H @S @r # Bfoca sa & TATATIT 3T H
line into vector line| line into raster line| data into digital data into analog Feolel BT 9ferar | acorer T gfshar | sgorer T ufehar | aRafda & fr
data data gfear
17|What is metadata ? It provides It provides It provides It provides FHerzel F47 g7 T hdel HYX | Yg Hdd [AAVAT |Ig -FATfA% 32T Ig FYX
information about | information only | information about |information about T & I H A HF I A | I H TTPRY |gEda & Ik &
only computer about attribute geospatial data computer KIGEI RG] KIGEIFUR G Y&l T & KIGEI RG]
language data hardware AT & AT & AT &
18|What is digitizing ? The process, The process of | The process of | The process of [fBfSesieeT #1 8?2 S 9fshar AR TATATT & 3fSeer e e3m3e o &
which converts | converting data | converting data taking printout WISl I Taraier | Bf5ed widc & | tavdide wide gfshar
shape file into from analog to from digital to H oRafda st [2er aRafda &= | @ 2er gRafda
analog digital format analog format g $T gfpar FT Fr gﬁ;
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#|Question Opt A OptB Opt C Opt D Question Opt A Opt B Opt C Opt D Ans | Level
1|Who developed the theroy of electromegnetic James Anderson S.G. Warren H.A Zebker Sir James Clerk |gelociadAesd o<l (E.M.) a3 & AT &l AR TS TH S R Td, T I W SFF Feloh D 2
waves (E.M.) waves ? Maxwell o fawfaa fmar? HFaad
2|Which tube of remote sensing used in its own Passive Active Satellite Orbital RArc ATAT F i & Tgd Foll & aAd Hl AT s 3998 EiED B 1
source of energy ? 3T AT 82
3|Which of the following is the first indian remote Quick bird Spot IRS - 1A MOS fAeAfild & @ @l &1 ggell HRAT RaAE Faw S5 Tic JTS3RTH -1 T TH3TE C 1
sensing satellite ? Hffer dcase g7
4]What is remote sensing ? To get knowledge To get the To get the To get knowledge |[R&te &fFeT &Fr 82 IRIRE T T Tl aeg &1 | #ifds &9 @ RIRF IS & B 1
about water with | knowledge of an | knowledge about | about earth with 1 S arer AP G TE |H9h & Y TEG | Y @A G-
the physically object from a object with physically contact qer & g H AT F IR H AT | H AT T FHLeAT
contact distance physically contact SATAT ST § u1d AT
5|which of the following is the example of active LISS Radar Avoifs WIFS FATI@d & & Plel Alohd T HT 3GIEX0T 872 for TSR RICIEERs g B 1
sensor ?
6|Which of the following country launch the Bhaskara - India USA CHINA JAPAN frafal@d # & fhT S & TR - | 393E HI AR 3T AT ST A 2
| satellite ? garqur fhar?
7|Which among the following wavelength is not used X - rays Visible rays Thermal IR Radio waves |RaAlc dfer # eifaf@a & & Fla & dayy Fr T - Y TFAT foReor U ISR epiier A 2
in the remote sensing ? 3931 gl fRar STar 82
8[In visible light (spectrum) which colour has the Red Violet Yellow Green T YRl (TAFcH) H Tohd 9T T Gad oal dar EICH Saredy drel & A 1
longest wavelength ? et By &
9]Which among the following is having more (larger) X - rays Cosmic rays Radio waves Gammarays |FATIAd & & el 3AH (F37) AT o&F g2 TFg - fRon Seme o NERGLC) AT o C 2
wavelengths ?
10{Which of the following field is used by the E.M. Solar field Polarised field | Electromagnetic Micro field fAfaf@d & O Fa & &7 399191 E.M a@n ok a7 YAIFd &7 [SacIAIATCH &1 ECGEGE] C 1
waves ? field gRT fhaT STaT 87
11|What is the frequency fo visible wavelength in EXM  [0.30um to 0.38 um| 0.4pm to 0.7 um | 0.7um to 100um 1umto 30 pm |E.M. TeFcH H TTATT aidl &8 & fov Hﬁﬁf 0.30um to 0.38 um| 0.4pmto 0.7 um | 0.7um to 100um 1pumto 30 c.m B 2
spectrum ? T 87
12|What is the speed of E.M radiation ? 3 x101 m/s 3x102 m/s 3x108 m/s 3x 109 m/s 3. uA. [AfeRor H afa F=2r 72 3x 101 H Y/ F |3 x 102 HeX/ Ths | 3 x 108 HIeX/ Ths | 3x 109 FHe/ AHhs | C 1
13[What is scattering ? Itis used in DBMS] It is the computer It is the Itis the increase |ThesaT FT §7? BT YT Tg FYXR Ig SUA. Foll HT | Ig WX o C 1
software redirection of E.M. | in solar energy DBMS & f&am AT & geAfAGeT & Cir-gy
energy ST &
14|What is diffuse reflection ? It occurs when the [It occurs when the | It occurs on It occurs with  [[3TrgS ReFelereret &Fam 72 Ig HHAS H AT | TE 9 BT ¢ Tg FYX Tg FYN F A 1
surface is rough |surface is smooth |computer software computer ¢ 99 gag 39 gdg a3 FFEI3N W giar arT g
relative to relative to the hardware AT F groeT e & gaey g
wavelength ? wavelength W gy & et gl &
15|Why sky looks blue ? Rayleigh Reflection absorption Refraction IMEAT el Fa7 R@ar 82 el TheRaT EIGICE] 37gNVOT 3Tade A 2

scattering




16|Which of the following helps to identify objects on Radiometric error | Geometric error Atmospheric Signature rfafed # @ Fa1 @dr f gag W a&g3i & | dsAfes e SAMAAE e | agHASAT T@5h! ESECEL
the earth surface ? window UgHTeT et H ASE &dl &7

17|Which of the following is helpful or used in remote Ozone hole Ozone window Black hole Atmospheric  [Rale a9 & R=Q@d & @ =i a1 T8+ § Mol &g N s soleh gl TGHASAT @5
sensing ? window T 39ANT fRAT SATAT 82

18[Which of the following reason to appear clouds Rayleigh Mie scattering Non selective Black hole  [dTgell & Tthe WIS Sof & [Ae=ifaiAd & & el ol TheRaT A SR IR TIATHS Soleh gl
white ? scattering scattering AT HROT &2 ICECEG]




Name of the Trade : Geo-Informatic Assistant - 1st Semester - NSQF - Module - 10

#|Question Opt A OptB OptC Opt D Question Opt A OptB OptC OptD Ans | Level
1|What is the height of the geostationary satellites? 2000 KM 2000 - 3000 KM | 3000 - 5000 KM 36000 KM HIEWR 3qrgl &1 Fars fhdelt g2 20007, 7. 2000 - 3000 &.3.{3000 - 5000 f&.#T.| 36000 f.70. D 1
2|Which of the following country launches the INSAT India USA Germany England ATl & & T @ o o INSAT 39r€ HRd IAAH SHAT ZITols Ans 2
satellite sense ? g &1 diea T g7
3|Which is the example of geostationery satellite? Landsat Spot Insat IRS HEAAS 3T T 30T HieA AT 5?2 CER Tic ST ISIRTH C 1
4]One geostationary satellite covers how much area One - third One - fourth One - fifth One - sixth T H{ER 3WIE A AT $HI HAG & [ohdell &7 T e T A T &l gr=dr Tadl AT A 2
of earth surface ? iR &7 e
5|What is the one of sun synchronous satellite ? Telecommunication | Earth mapping Broad cast Weather 2 AP HEAST HT STH q Tk HIHA FAT g2 | Coll HFGIARA | Gl ATT0T JaROT AraH B 1
6|Which satellite is related with HR ? Handsat IRS IKONOS Spot TR hd 3998 & TaSd &7 gusiic ISHARTH TSP e D 1
7|Which of the satellite related to MSS sensor ? Landsat Spot IRS Insat MSS TEX T TFe= Tohd 3998 T g7 R e IBHARTH O A 1
8|LISS sensor is related with which satellite ? IRS Landsat Spot IKONOS LISS TR 5% 3998 & T«d &7 ITSHRTH oz Tre SR A 1
9|What is the full form of HRA ? High Resolution Value| High Resolution | Home Resolution | Hyper Resolution [HRA@T qU1 & T §? s ey g5 Wieg e g Wegeed | 8B Reflege« | B 1
visible Value Visible areq IEIC:ERE g IEIS:ERE
10|What is the resolution of LISS IIl sensor ? 5.8 mtr. 23.5 meter 56 mtr. 180 meter LISS Il ¥R 1 RAfeger & g2 5.8 #IeT 235 HIX 56 #leX 180 HIeX B 2
11{What is the resolution of the AWIS sensor ? 235 25 56 188 AWIS TER & RelTegere &1 g2 235 25 56 188 C 2
12|What is the full form of NCC ? National colour Natural colour Natural colour Natural colour  [NCC&T qU1 & T §? AU FoR FHUAT| A FolX aTlel ehell AT FoR FT | C 1
company combination composite company FITFEIALNA FHFqifae
13|Which country launched the LANDSAT satellite India England France US.A TR <2 o LANDSAT 39318 @ell I TRIgAT hl? ARA Z3Teis wIE 3T D 2

series ?




14{Out of this which is primary colour ? Green Black Yellow White zgH ¥ TrafAe LT FiA 4T g2 & FIell el Tqthe,
15|Which resolution is related with time ? Spatial resolution  |Spectral resolution|  Radiometric Temporal T AT JWYAA TAT & 1Y Fafed g? TTAT TG 2| THFeel oG 2 EpIEITCT SR RUege=
resolution resolution Rftegest
16[In which year Spot - 1 satellite was launched ? 1986 1990 1993 1998 g 9 TC - 1 39918 dlied [aT 31T AT? 1986 1990 1993 1998
17|What is the full form of CC ? Final colour composite| False colour False colour Final colour CCp1 q;U‘l T FIT 87 BISeTcel Shell Pled hell Bled helX BISeTel hell
composite combination combination Feqifore Feqifore FITETANT PITETIT
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#|Question Opt A Opt B Opt C OptD Question Opt A Opt B Opt C OptD Ans | Level
1{What is the intensity level of 8 bit image ? 128 256 356 512 8 e o3 =1 digar TR Fm §? 128 256 356 512 B 2
2|What is the full form of BIL in digital image ? Band Index by Band Individual | Band Interleaved | Bond Internal by [3fecar ©fd & BIL & qU1 &7 &1 ©°? 35 337 g I ds sfefagara |93 Sciclas 9@ |dks Seiadd a g B 1
Line by line by Line Line RIES) CIECIES) RIES) RIES)
3[How many brightness levels are found in black and white 2 levels 3 levels 4 levels 5 levels FTel 3R A BT A Tohded THS TR UIT AT 87 2 TR 3TN 4 TR 5F A 1
image ?
4|what is GCP ? Ground Control | Gray Control Pixel | Ground Control | Ground Colour |GCP & g2 T3S helel UFaR | A hUelol UFdel | I35 held Uise | AM33 ok dise | C 1
Picture Point Point
5|Which of the following is the method of resampling ? Start method Analog method Bilinear Vector Afa@d & ¥ i a1 RAufeer F=a 6 [ uRH Afe TATeTeT [ater TATAHIR T8T9 JFX C 2
interpolation 87
6|What is image enhancement ? Convert analog | To improve the To reduce the To reduce the [3HAST TgHAT T 87 AT B T T o I BT FT FR Teh Bd &I B 1
image into digital |appearance of an | size ofimage |appearance of an fBfScer wisfe 7 | arfle & gur | &7 F& & v | 3rdeld &t &4
format image image gRafdd FT & fow FT & fow
7|What is band ratios ? In which the In which the In which In which d5 3rgura & g2 SE@H Jcer-3redr | oEd AlgA & | aa ds deg Srad Fege A 2
difference from difference from |difference of band | difference in AlgA 3T el [FROT T & Tdg | & X 96 IR | FedT H AR
same surface due |same surface due | value increased computer & FROT Teh & |T I 9¢ Jar & g¢ AT
to different to season are software increased Tdg ¥ IR/ FA
season and increased g ST &
illumination are
reduced
8|What is the use of low pass filter in image enhancement It is used to make [Itis used to delete | It makes the ltservesto |73 g & HA I et &1 39T AT 572 g1 39T SHT 39T Tg imageH (I BF A FaART | C 2
? vector data datain animage | image appear |enhance edges in vector 3¢ &allel | fohdll SAST & SaT | GOT® 1T § HI TG &
smooth image % forw forar Sirar | Belle e &
g T fRar Srar &
9|what is the full form of PCA in image enhancement ? Principal Principal Primary Project company [SHST Jglet H T &I U1 §T T g7 TRATe HdetT Raer UEAY PlFdlelee | Wolde el B 1
company analysis component component analysis TATT FlFdtec AT TATT
analysis analysis AT aT
10[What is the use of high pass filter in image enhancement [ It is used to make It makes the It is used to Enchance the [ofa 3fg # 3Ta 98 fheex & 393t &1 &7 SHH 3UANET (TG DI A A | FHPT 39T &id # TS D 2
? vector data image appear |reduce datainan | finer detail in JFeT 3eT Teller AT & R s & 37 | fawmor 3R
smooth image image and F fov fFar srar FTFA A F  |Sd F FAR F
enhance edges in g foT foRar Srar & ErALY
an image
11{Which of the following histogram processing techniques Histogram Histogram analog Histogram Histogram delete [df8Ih & io=IToli@d TGECiAH JHEHIUT dehsilehl RRsapita] RECHNH TATAT | BT & g7 | et geem | A 1
used in global ? linearization technique reduced H A T a@r g TEHIOT REDIED T
12|What is the full form of ANN in digital image Artificial Natural | Artificial Neural | Artificial Natural | Artificial Nominal |f3fSicer ©fa aeffeor & ANN T QU1 &9 FT §? nfehriazer nfehriazer nfehiaze nfehiazer B 2
classification ? Nominal Network Network Natural Al AfAT I Sicah Lol Jcas AfAT gl
13[Which of the following is method of supervised Hardcopy Maximum Delete likelihood | Insert likelihood |F=faif@d & & a7 @1 T3eToT FeflehoT &Y REEREIICIEEIE AlFaaa f3elic arsdelge | 3-ac eMSdolige | B 2
classification ? likelihood likelihood fafer &2 AMShelg s




14[What is the full form of NDI 2 Normalized Normalized Normalized Normal difficult [NDI ST o & 2T 2 ANAATSS P | AT BT | AclTsol 3T | A [Sihehoe
difference difference difference value valve index afSeereT geX do | afoieers g3 dg g3F 0 ared §3d
vegetation inter vegetation index index
change
15|Which of the following is related with K - means Supervised Un-supervised | Semi supervised Weakly fAfaad § O &l K- Hled TealRTA o qIafera fRvetor 3A-gagss 3T faam &t FHAAR dAqh F
algorithm ? learning algorithm | learning algorithm | learning algorithm supervised T g2 TS H AT TenRUA | gdaetor vemiien @@ $r
learning algorithm TeINZH
16[Which of the following method is related with supervised | Parallel piped Analog Weak Semi supervised |[FATf@d & & &l dr AT wAafad gafieor el qIgTs HIFY gaffaor | FAGR gafiaor | rdfasfaa fafe
classification ? classification classification classification method I &g g2 FATTA Rl
17|What is the full form of DTC in image classification ? Decision TOP Decision Tree | Digital Tag Colour |Digital Tree Colour |5 gaffeor & &= &1 qul §9 FT 82 2fae= e B & Bfea &1 Fer | Bfoea & For
Classifier Classifier FATTAPRIT FATTAPRIT




